= 7% BrEEX|
E‘??’Fjl I‘Eﬁ

LR

T (Y

E ok = (

1.

i UECEEF R TR ZEES - (D]7F PJE ’ ﬁiﬂi'«"ﬁﬂ?&%q‘ °)
(@) A( -8,-2) ! B(-4,0)
(b) P(2a,-5a) #! Q(7a,7a)

=151 P(0, 2) ~ Q(2,8) A! R(8, 6) RL= = FPYRTEIR
(@) APQR RL -~ [ €17 2 FBULIE -

(b) APQR fg - W= JI/ ) ? RSP

() =F APQR

TN HECEEF T‘lﬂlﬁﬁiﬁ[ E g Ifx,.[fﬁx“’[albli{l%ﬂﬁ’lfjﬁ[ﬁﬁqﬁﬁg{;{: °
(@) F’( =2,3) 7 Q(6,8)

B R(-4,=1) ~ S(-3,-4) A1 T(5,5) RLAEBI- [ £ 45 fr b By
Yy
(@) f RT #I ST fiuz[= o 1 169
(b) [AIfias RT A1 ST I it 7 g = 2
(© F’Lﬂﬁlﬁﬁ RT A1 ST Pffetfek fHA] 2 R (-4, -1)
Py G
3(3/
LR R(6,—3) A1 S(b,4) FURAYEURFEL ~1 - b fUff -

AP AR R P(5, - 4) ~ Q(-3,8) A R(L2) zgg#h@\
1A A6, —4) ~ B(-2,6) Al C(Ld) RLpiis o= pir o d o -

TS A7, 2) 1 B(5.5) B C KLy fibio— B [l CBA/OA - C fiudifg: -

Y

1 B(5,5)

C

A(7,2)

5 > X
1 P(=4,3) ~ Q(-2,-4) - R(k,—%) A S(L,2) AL Fp AR P o Hi PQIRS
(@ o k puffre P(-4,3) 1
(b) [l PQRS Jol— {1 = PG 2 SRR - \ \3(1,2)

0

2, - 17
Q(-2,-4) R (k —%)




10. T‘i [ﬁ[[:[[ » A ii_ y HIE[__'—F[U# %’#, _Er /ABC =90° - AB Fm%:lggié E
2y B(5,1)
(@) o A [l o

0
(b) Iy fuff
C(2y+1 2-y)
A

11 [l B(8, 0) kL AOAB i~ [ Rl =141 OAfIUR{ :% 1 ABR] s =
(@ AUl

(b) =5 AOAB PUEIA - ]/\

B(8,0)

12. [ 5% A(=6, —5) ~ B(4,b) ~ D(5,5) #! E(37) pu[g#[—o [ AE 2 y IffiLE Co 2 CD

/I AB - Y E@T)
D (5, 5)
(@ f Cpudg e y
(b) b o - / x
A (-6, -5)
13. TR > A AT B STHIRL x ATy @i BRI P(6, 3) £L AB iU~ R (i OP LAB -
(@) i A A1 B UL \
(b) [ S AOAB Ui - 1
P (6, 3)
2 i i
14. [HIFI R BTy S5 BIAE L5 A6, 0)F1 B(O, 8) = ) ML ABIUFIIR o Muifz -
y
A
M
A
> X
0
15. % [fFl 1 797 ABCD U SUEL AT K o i K pulifgd -
Yy
D h C
K
A(-2,3) B (6, 3)
> X
0

16. L[ff]1 - ABC RL- it & AB=BC i AL -




